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QUESTION 1

From the Statistical Analysis Plan, patients age is calculated as an integer relative to date randomized divided by

365.25. Given the following annotated CRF:

Date of birth | || BIRTHDT
Ciay Maonth e
Sex [Mm] _|__ Male
_ SEX (SEX)
[F] |: Female

RANDOMISATION NUMBER RAND

Record randomsahan number
| |
Dafe of mndomisation | | | | ” | | RANDDT
Limy Nnnt Waear

Which programming code defines the patient\\'s age?
A. age = int((birthdt-randdt)/365.25);

B. age = int((randdt-birthdt)/365.25);

C. age= int(yrdif(birthdt,randdt, "act/365.25"));

D. age = int((today()-birthdt)/365.25);

Correct Answer: B

QUESTION 2

Given the following partial output data set:

SURJID VISIT AGE AGECAT

igi 1 Zi Z
103 1 42 3
105 2 18 1
106 i 56 3
107 1 55 a

Which code was used to create AGECAT?

A. if age
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